AP Calculus Definite Integration Homework
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L. Evaluate each definite integral.
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2. Write an integral o represent the shaded area.
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3. Suppose that f and g are continuous functions with the below given information. Use the
properties of definite integrals to evaluate each expression:
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4. Suppose that f and g are continuous functions with the below given information. Use the
properties of definite integrals to evaluate each expression:
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AP Calculus AB
Homework — Antiderivatives and indefinite Integration

Find the Indefinite Integral and check the result by differentiation.
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Find f(x) given the initial condition:
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